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QUESTION 1

Which configuration keyword ensures that all in-progress sessions are re-evaluated upon committing a security policy
change?

A. policy-rematch
B. policy-evaluate
C. rematch-policy
D. evaluate-policy

Correct Answer: A

QUESTION 2

By default, how is traffic evaluated when the antivirus database update is in progress?

A. Traffic is scanned against the old database.

B. Traffic is scanned against the existing portion of the currently downloaded database.

C. All traffic that requires antivirus inspection is dropped and a log message generated displaying the traffic endpoints.

D. All traffic that requires antivirus inspection is forwarded with no antivirus inspection and a log message generated
displaying the traffic endpoints.

Correct Answer: D

QUESTION 3

A traditional router is better suited than a firewall device for which function?
A. VPN establishment

B. packet-based forwarding

C. stateful packet processing

D. Network Address Translation

Correct Answer: B

QUESTION 4

Which three components can be leveraged when defining a local whitelist or blacklist for antispam on a branch SRX
Series device? (Choose three.)
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A. spam assassin filtering score
B. sender country

C. sender IP address

D. sender domain

E. sender e-mail address

Correct Answer: CDE

QUESTION 5

-- Exhibit -

user@host# set interfaces ge-0/0/5 gigether-options redundant-parent rethl user@host# set interfaces ge5/0/5 gigether-
options redundant-parent rethl user@host# set interfaces reth1.0 family inet address 192.168.1.100/30 user@host#
commit [edit interfaces reth1]\W'unit O\\'reth1 needs to be associated with a non-zero redundancy-group error:
configuration check-out failed

-- Exhibit -

Click the Exhibit button.

Referring to the exhibit, you have built a chassis cluster, set up a reth, and put interfaces into the reth.

However, when you try to commit the configuration, you receive the error shown in the exhibit.

Which configuration command will correct this error?

A. Set chassis cluster reth-count 2

B. Set chassis cluster redundancy-group 1 interface-monitor rethl

C. Set interfaces rethl redundant-ether-options redundancy-group 1

D. Set chassis cluster redundancy-group 0 interface-monitor rethl

Correct Answer: C

QUESTION 6

A user wants to establish an HTTP session to a server behind an SRX device but is being pointed to Web page on the
SRX device for additional authentication.

Which type of user authentication is configured?
A. pass-through with Web redirect
B. WebAuth with HTTP redirect

C. WebAuth
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D. pass-through

Correct Answer: C

QUESTION 7

Click the Exhibit button.

[edit groups]
uszerBhozt# show
noded |
system |
hest-name NODEOD:
j

interfaces |

THPpOD |
unit 0 {
family ilnet {
address 1.1.1.1/24;
]
|
¥
}
F
nodel |
system |
host-nake NODEIL;
i
interfaces |
tfHpO |
unit 0 {
family inet |
address 1.1.1.2/24;
I
)
}
}
}

In the exhibit, what is the function of the configuration statements?
A. This section is where you define all chassis clustering configuration.

B. This configuration is required for members of a chassis cluster to talk to each other.
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C. You can apply this configuration in the chassis cluster to make configuration easier.
D. This section is where unique node configuration is applied.

Correct Answer: D

QUESTION 8

Which two statements are true regarding high-availability chassis clustering? (Choose two.)
A. A chassis cluster consists of two devices.

B. A chassis cluster consists of two or more devices.

C. Devices participating in a chassis cluster can be different models.

D. Devices participating in a chassis cluster must be the same models.

Correct Answer:. AD

QUESTION 9

-- Exhibit -

security {

ike {

policy IKE-STANDARD {

mode aggressive;

proposal-set standard;
pre-shared-key ascii-text "XXXXXX";
}

gateway GW-HUB {

ike-policy IKE-STANDARD;

dynamic hostname sitel.company.com;
external-interface ge-0/0/0.0;

}

}

ipsec {

policy IPSEC-STANDARD {
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proposal-set standard;

}

vpn VPN-HUB {

bind-interface st0.0;

ike {

gateway GW-HUB;

ipsec-policy IPSEC-STANDARD;
}

}

}

zones {

security-zone untrust {
host-inbound-traffic {
system-services {
ping;

ike;

}

}

interfaces {
ge-0/0/0.0;
}
}

security-zone trust {
system-services {
ping;

}

interfaces {

ge-0/0/1.0;

}
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}

}

}

-- Exhibit -

Click the Exhibit button.

You are implementing a new route-based IPsec VPN on an SRX Series device and the tunnel will not establish.
What needs to be modified in the configuration shown in the exhibit?
A. Change the bind-interface from st0.0 to ge-0/0/0.0.

B. Add st0.0 to a security zone.

C. Add esp under host-inbound-traffic on zone untrust.

D. Add ike under host-inbound-traffic on zone trust.

Correct Answer: B

QUESTION 10

You have a chassis cluster established between two SRX Series devices. You re monitoring the status of the cluster
and notice that some redundancy groups show disabled.

What are two explanations for this behavior? (choose two)
A. The fxpO interface is down

B. The fxpl interface is down

C. The fab interface is down

D. The swfab interface is down.

Correct Answer: BC

QUESTION 11

You want to ensure end-to-end data connectivity through an IPsec tunnel.
Which feature would you activate?

A.DPD

B. VPN monitor

C. perfect forward secrecy
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D. NHTB

Correct Answer: B

QUESTION 12

Which attribute is optional for IKE phase 2 negotiations?
A. proxy-ID

B. phase 2 proposal

C. Diffie-Hellman group key

D. security protocol (ESP or AH)

Correct Answer: C

QUESTION 13

Which two statements are correct regarding reth interfaces? (Choose two.)
A. Child interfaces must be in the same slot on both nodes

B. Child interfaces do not need to be in the same slot on both nodes.

C. Child interfaces must be the same Ethernet interface type.

D. Child interfaces can be a mixture of Ethernet interface types.

Correct Answer: BC

QUESTION 14

Which two statements are correct regarding the null zone on an SRX Series device? (Choose two)
A. The null zone can be configured to accept host-outbound traffic.

B. Interfaces not applied to any other zone are placed in the null zone.

C. Only non-operational interfaces are placed in the null zone.

D. All traffic is rejected to and from interfaces in the null zone.

Correct Answer: BD

QUESTION 15

Which statement describes a security zone?
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A. A security zone can contain one or more interfaces.

B. A security zone can contain interfaces in multiple routing instances.
C. A security zone must contain two or more interfaces.

D. A security zone must contain bridge groups.

Correct Answer: A
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